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LINEAR MODELLING

Example 1 ~ Car Value Model

The average price of a used Camero Z28 depends on the age
of the car. Suppose a 2 yr old Camero costs $32,350 and a 5
yr old costs $26,875. Assume a linear relationship can be
used to model the situation.

o) Find f1u e Yok dasiribe this felatios e

4
Qye 32350 Jlacost dapmds on e &
Y (
Sy > *,85 (Y) (7‘9

(3i0h) Skt ;t‘m

(S,Q‘,S}S) m= _:_3 (-DEH“ETH

M= -4, VARIA
%y~ e

m: :b'ﬂs'!‘llﬁb
§5-4

4 s
Sigujiamad 3y
ﬁ)ft s Lm: —‘\?7-5‘131)
ey

an o tost
roaaaes ) b5
dik B - inkacpt:
Weke equakim: = mxe b

\6= mxt b le,n? -I‘HSC'BS th
Yz -E5x43bom s =105 +b
A 8Y5 + 9125 = b

Srlicona ) >

4 ;v\\'U‘uf\'
ot L ramerconds Al 054 A tan wlon



nov3 (linear modelling).notebook November 03, 2011

b) Diterwine Hla ot omnd - intercuply amd ofplain thais
(NN ing inthe owteg] of Hhe Sthwekion -

! From i liok quastion Wi (oned
# . 3-l.t\lo\wﬁ b b 43L,m omd
d{,o) Yoo o The tosh B‘W can Whom & Wao

01(33) bigmd waw/

To find e 'x-ia’muP\l, Lot a=°

Ta 1} urs -
flo cos! ‘i’h’ é\r'X' H-iﬂ
Car will be o

s
¢) How muchwld a qur S\ (owmero st/
= - [85x + 2000

= - (825(3) $ 36010




nov3 (linear modelling).notebook November 03, 2011

Example 2 ~ Bridge Problem l’

A bridge is constructed of steel s t it has gaps o*

when the outside tem erature i The steel will act
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